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SECTION - A
General Aptitude

Choose the most appropriate option.

Pirection Q.No.1-2:

In the following questions choose the word
opposite in meaning to the given word,

1. Antagonism :

(A} Cordiality {B) Animosity
(C) Hostility (D)  Enmity

2. Hasten:
(A) Dash (B) Dawdle
(CQ)  Hury (D)  Scurry

Direction Q.No.3-4:
In the following questions, oul of the four

alternatives, choose the one which best expresses
the meaning of the given word.

3. Camoulflage :

{A) Disguise (B) Cover

(C) Demonstrate (I} Fabric
4. Yearn:

(A) Deny (B}  Accept

() Confront (1}  Crave

Direction5-8:

The following pie-chart shows the percentage
distribution of the expenditure incurred in
publishing a magazine. Study the pie-chart and
answer the questions based on it.

Various Expenditures (in percentage)
Incurred in Publishing a Magazine

Promotion Cost

l(}:f’:rl}_ﬁ |' pl‘iﬂtil‘lg C(}St

20%

Royalty .
15%

< ’l’fansportation
Cost 10%

Bmd;gii(:ost Pa_i)er Cost
25%

5, - What is the central angle of the sector

corresponding to the expenditure incurred

on Royalty 7
{Ay 15° (B) 24°
(C) 54° (D) 487

6.  The price of the magazine is marked 20%

above the C.P. If the marked price of the
magazine is T 180, then what is the cost of
the paper used in a single copy of the
magazine ?

(A) 36 (B) T37.50
Q) T D) %4425
{

7. If for a certain quantity of magazine, the

publisher has to pay T 30,600 as printing
cost, then what will be amount of royalty
to be paid for these magazines 7

(A)  T19,450 (B T21,200
(Cy  T22,950 (D) %26,150
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8. Royalty on the magazine is less than the
printing cost by

o ko
5, ’l A3 %
( \) R { 53! z
<&y 20% {y  25%

Pirection 9-11%

The table given here shows production of five
types of cars by a company in the year 2000 to
2015, Study the table and answer the questions,

Production of Cars by a Company

Year/
Type
P & 120 16|17 | 21 ) 88
Q 16 110 1 14 12 12 14 ) 78
R 21 {17 |6 15113 | 8 90
S & 6 10 {16 | 20§31 | 87

2010(20111201212013[2014({2015{Total

T 25 {18 | 19 | 30 {14 [ 27 | 133
Total{ 74 { 71 1 75 | 90 | 80 | 86 | 476
9. Inwhich vear the total production of cars

of types P and Q together was equal to the
tolal production of cars of types R and &
l‘ogetimr ?

(A) 2011
(B) 2012
() 2015
(

) None of the above

10, I which year the production of cars of all
types taken together was approximately
equal to average during the period ?

(A) 2010 (B 2012
() 2014 0y 2015

11, The production of which type of cars was
25% of the total production of all types ot
cars during 2014 7
(Ay S B R

© Q oy P

Direction Q.No. 12-14:

Read the following information carefully and
answer the questions given below :

() P,Q RS Tand Usixmembersof a family,
each of them engaged in a different -
profession Doctor, Lawyer, Teacher,
Engineer, Nurse anct Manager.

(i)  Eachof them remains at home ona different
' day of the week from Monday to Saturday.
The lawyer in the family remain at home
on Thursday.

{ii)

(iv) R remains at home on Tuesday.

(v) P,aDoctor, does not remain at home either
on Saturday or on Wednesday:.

S is neither the doctor nor the Teacher and
remains at home on Friday.

(v

(vii) Q is the Engineer and T is the Manager.

12, Which of the following combinations s
correct ?
(A) Lawver - Tuesday
(B) Nurse - Friday
(Cy  Manager - Friday
(

D) Engineer - Thursday

13.  Which of the following combinations s
not correct ?

{A} R-Teacher {B)
() T-Manager (1)

Q - Engineer

S - Lawyer

AfVage 3
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14, Who is the Nurse ?
(A} S By R
(Cy u (D) Data inadequate
Direction Q.No. 15 :

Three of the words will be in the same
classification, the remainin gonewill not be. Your
answer will be the one word that does NOT
belong in the sare classification as the others.

15, Which word does NOT belong to the
others ?

(A) Tape
() Cord

(B)  Twine

(D)  Yarn

Direction Q.No. 16 - 18 :

Study the following information's carefully and
answer the questions given below :

(i}  Sixpersons A, B,C, D, E and F are taking
their breakfast in two groups facing cne
another.

(i) Dand A are not in the same row.
{ii1)
(iv)
(v)  Disto the left of B.

E is to the left of F and faces C.

B is in the middle of a group.

16, Who faces B ?
(A) C B} A
) E (O) F

17. Who of the following are sitting in the same

row ?
(A) AEB (B} EFB
(C)y DEF ()  AEF

18, Which of the following pairs are facing each

other ?
(A) CA (By  BA
(Cy DA (Y DE

19, Find the missing nwmber in the following

question,
A,
o 4 \'\ ;’/

841 7 N 784 225 7 196

A

A \ N A . ™,
729 169
(A) 32 By 42
<y 62 Dy 82

20.  If + means +, — means +, X omeans —

Ny and + means %, then

(3 * 4) — 8 X 4 _,
44+ 8Bx 2 4l - { =
1 B -1
© 2 ©) 0

Direction Q.No. 21 - 22 ;

In each of the folh)wing letter series, some of the
letters are missing which are given in that order
as one of the alternatives below it. Choose the
correct alternative.

21.  aaa_bb_ aab_baaa bh

(A) abab {B) bbaa

{C) " babb {D)  baab
22, abca_bcaab_aa_caa ¢

(A)  bbac {B) bbaa

{C) achb (I} acac
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__.f'_":)irecti(m Q.No.23-24:

CIn each of the tollowing questions, one term in
the number series is wrong. Find out the wrong
term.

23, 125,126,124, 127, 123, 129
(A) 123 (B) 124
() 126 (D) 129

24, 52,51, 48,43,34,27, 16
(A) 51 (B) 48
(©) 34 () 43

Direction (Q.Nv. 25 - 27:

In each of the following questions, a series is
- given with one term missing. Choose the correct
alternative that will conlinue the same pattern
and fill in the blank space.

5. 6,25 123, 214, 341,
(A) 65 (B) 70
72 (D) 62

26, V1,76,09, 74, 67,72,

(A) 65 (B) 76
() 77 (D) 80

27, 50,49, 46, 41, 34,

Phrection .No. 28 - 2%

I each of the following questions, find out the
correct answer from the given alternatives.

28, IF mva certain language MECHANICS is
coded as HCEMASCIN, how is POSTER
coded in that code ?

(A) OPTSRE (B) SOPRET
{(C) RETSOP (Dy  TERPOS

29. U TABLEiscoded as GZYOV, how is JUICE
coded ?

(A} OZL¥] (B) QEFRXV
(Cy HOFAD (D) QZHMT

Direction Q.No. 30~ 32 :

In each of the following questions, there is a
certain relation between two given words on one
side of : 1 and one word is given on anocther side
of : ¢ while another word is to be found from the
given alternatives, having the same relation with
this word as the words of the given pair bear.
Choose the best alternative.

30.  Engineer: Map : : Bricklayer:?
(A} Design (B)

{C) Mould (D}

Templet

Cement

31.  Major: Battalion : @ Colonel : ?
(A) Company (B)
(€ Army D)

Regiment

Soldiers

32, Virology : Virus : : Semantics : ?

(Ay 32 (B) 25 (A)  Amoeba (B} Language
<y 21 Dy 19 (C) Nature (ID)  Society
A/ Vage s SPACE FOR ROUGH WORK SC-B (IT)



Direction (Q.No. 33 -35;

The following questions consist of two words
cach that have a certain relationshi ptoeachother,
followed by four lettered pairs of words, Select
the lettered paiv that has the same relationship
as the original pair of words.

33. Syn*xphony s Music

——

A)  Mural: Painting
B)  Ode : Prose
C} Preface : Book

D)  Editorial : Journal

e

34 Medicine : Capsule
{A) Pearl: Shell
(B) Passenger: Bus
(C)  Heart: Lungs
(DY  Car: Vehicle

35.  Identity : Anonymity
(A} Flow : Perfection
(B} Careless : Mistake

+(C)  Truth: Lie

(D

) Fear:Joy

Direction Q.No, 36 - 37 :

Each of the following questions the first two
words have definite relationship. Choose one
word out of the given four alternatives which will
fill in the blank space and show the same
relationship with the third word as between the
first two.

36, Cobra is related to Snake in the same way
as Leopard is related to
(A)  Tiger
(Cy Cat

(B) Lion
(D) Zebra

37, Memorise is to Amnesia as Movement is fo

A
{A)  Lubrication

(B)  Lethargy
(Cy  Paralysis
(£} Hermit

Direction Q.Ng. 38 - 41 :

Irveach of the following questions, three out of
four alternatives contain alphabet placed in a
patticular form. Find the one that does not belong
to the group.

38. (A) BCDEI (B) PORSW
() LMNOS D) HIKLO
39. (A) LNMO (B) CRDT
(C) EUFV (D) CWEIX
4. (A) CBAZ (B)  AZYX
(C) AZBY (D) PONM
41 (A) JMP (B) RUX
(C) UYB () BHK

42. A train started from Mumbai at 6.00 A.M.
On the next (second) station 1/3 passengers
got down and 96 got in. On the next {third)
station, ¥z of the total passengers present
inthe train, got down and 12 came in. Now
there were 248 passengers inthe train,
when the train started from Mumbai, the
number of passengers was :

(A} 435 (B)
©) 654 (D) 7%

564
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43,

The LCM of two numbers is 45 times tHheir
HCF, {f the sum of the LCM and the HCFE
of these two numbers is 1150 and one of
the nurmbers is 125, then the other number
is:

(A} 256 By 225

(©) 250 (D) 255

Direction (3.No. 44 - 45

Find out the wrong term from the following series
and select the number from the alternatives which
will replace the wrong term in the series.

44,

46,

47,

299,178, 97, 48, 24, 14, 13 :
(A) 175 (B) 295
) 23 (D) 10

2,9, 28, 65, 126, 216, 344 -
(A) 38 (B) 217
C) 356 (D) 66

The ratio between Sumit's and Prakash's
age at present is 2 : 3. Sumit is 6 years
younger than Prakash. The ratio of Sumit's
age to Prakash's age after six years will be

(A) 1:2 (B) 2:3
©) 3:4 (D) 3:8

If the difference between a number and
1/5M of it is 84, what is the number ?

(A) 115 (B) 95
(C) 105 (D) 125

48.

49,

50.

51.

The ratio of ages of the father and his son
at present is 12 : 5, the difference of their
age is 28 years. What will be the ratio of

their Ages after eight vears ?

(A) 2:2 (B} 3:1
© 2:1 D) 3:2

“Two pipes A and B can fill a water tank in

20 and 24 minutes respectively and third
pipe C can empty at the rate of 3 gallons
per minute. If A, Band C opened together
filled the tank in 15 minutes, the capacitjf
(in gallons) of the tank is :

(A) 60 (B) 120

(C) 150 (D) 180

A can run 200 m in 35 seconds and B in
38 seconds. By what distance A beats B ?

se2
(A) 15m (B} 13*3" m
e 1D O
(©) 131"5 m (I3) 15@ m

A train starts at 7 a.m. from A towards B
with a speed of 50 kma/hr. Another train
from B starts at 8 a.m, with a speed of
60 km/hr towards A, Both of them meet at
0 am. at C. The ratio of the distances AC
to BCis :

(A) 4:5 (B) 5:4

() 5:6 {) 6:5
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A tradesman marks his goods at such a

52.  The average of the husband and his wife 57.
was 23 years at the time of iy malriage. price that after allowing a discount of 15 %,
Alter five years they have a one vear old he eamns a profit of 20%, Find the marked
child, The avera g age of the famil ¥ o price of an article which costs him ¥ 830,
B8
| - _ (A} T1200 (B)  ¥1300
(A} 293 voars (B) 285 vears
(€©) 23 years () 19 years (C)y  Tu250 By T 1350
T/ath e LT . s equal bo 2 /5th .

53. I[/ i [i_,)'t _0{_} _Ul & .Hbtl.i“Ile_l l_é’_&"”ludi_ l_("‘f/ 7 158, Ina camp, there are meals for 120 men or
l:) f(} » ot i“?,mh[?l 'nu_x'lﬁwm. W.h.a.l 1" _E_l_“" 200 children, If 150 children have taken
tt',"’_phﬂc_m_’l&' _Mlu‘_z O? ihe frst number to that their meals, how many men will be catered
vt second number ; to with the remaining meal ?

(A} 8:15 B} 5:9 )

(A) 50 (B) 40
(C) 8:13 Dy 4.7

() 30 (D) 20

54,  A&B together have ¥ 1210, 1 4715 of A's
amount is equal to 2/5 of B's amount, how ] ‘ ) _
much amount does B haye? 59. 56 men can complete a piece of work in

24 days. In how many days can 42 men
(A) T e6d (B)  ¥550 complete the same piece of work ?
(C) T484 (D} T4ds60 (A) 48 (B) 32

() 20 {0y 16

55.  How many one rupee coins, 5( paise coins
and 25 paise coins of which the numbers
are proportional to 4, 5 and 6 are together
worth T 32 ? 60. A boat travels upstream from P to Q and

. downstream frora Q to P in 4 hours, If the
3 16, 20, 7 12 16,2 . o . ,
(A) 16,20, 24 (B) 12,16, 20 speed of the boat in still water is
(© 20,24, 28 (D) 24,28, 32 12 km/hr and the speecl of‘ the cutrent i3
4 km/hr, then what is the distance from P
toQ?

56.  Two dice are thrown simultancously. The i ;
pz'obability of obtaining a total score of 5 (Ay 31 5 km (B) fﬂé— km
s : :

(A) 1/18 By 1/12 : :
. 41 , a1
3 _ € 21— km (D) 11> km
Q) 1/9 (1) None of these 3 3
A/Page 8 SPACE FOR ROUGH WORK SC-B (IT)
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SECTION - B 65, Twuo alternative packages A and 8 are
T A AT TN T LN . available for processing a database having
INFORMATION TECHNOLOGY 10k records. Package A requires 0.0001n2
Choose the most appropriate option. time units and package B requires
' 10nlogl0n time units to process nrecords.
What is the smallest value of k for which
61.  Given a class named student, which of the package B will be preferred over A7
following is a valid constructor declaration (A) 12 (B) 10
for the class ? ' S )
(A} Student student () { } O L)y >
(B) Private final student () { }
(C)  Student {stucent sy { } 66, Earlier name of Java Programming
language was :
(1) Voirdstudent () { ] gHas
{A) OAK (By D
62.  Three or more devices share a link in (€)  Netbean (D) Eclipse
e _conpnection.
A)  Unipoint B}  Polarpoint
(%) Unipoin (B)  Polarpoin 67.  What is the type of the algorithm used in
() Pointto Point (D} Multipoint .solving the 4 Queens problem 7
{A} Greedy
63. An o'bje.cl: can have which of the following (B) Branch and Bound
multiplicities ?
(A} Zero (€) Dynamic
(B More than one (D) Backtracking
(€) One
(D} All of the above 68.  Selection sort, quick sort is a stable sorting
method.
) (A} True, True (B) False, False
f\ _£ ........... - -"\‘-\)
64. b ),/ Lo ™™ v (C)  True, False (D) False, True
J ------ I—'// 3 .,__.‘_
B4 ) Do o
69.  Which of the following is a platform free
The Circuit is equivalent to : language ?
(8) EX-OR Gate (B) NAND Gate {A) JAVA (By C
(C} ORGate (D) AND Gate (C)  Assembly (D) Fortran
A/Page 9 SPACE FOR ROUGH WORK . SC-B (IT)



70.

71.

72.

73.

The maximum combined length of the
command-line arguments including the
spaces between adjacent arguments 15
(A) 128 characters

(B} 256 characters

(C) 67 characters

(D) It may vary from one operating
system to another

What is the meaning of following
declaration?

int(*p[7)0) ;
(A} pis pointer to function.

(B) p is pointer to such function which
return type is array,

(C) pisarray of pointer to function.

(D) pis pointer to array of function.

Which of the following sorting procedures
is the slowest ?

(A)  Quick Sort {B) Merge Sort
{C} Shell Sort (D) Bubble Sort

The number of unused pointers in a
complete binary tree of depth 5 is

(A) 4 (B) 8

16 Oy 32

76.

Normalization form which is based o,
transitive dependency is classified as 1

(A} tirst normal form
(B} second nonmal form
(Cy  foarth normal form

{0y third normal form

A __is a linear list in which

iI\‘}thi(;l‘l:d{_ld deletions are made to from
either end of the structure.

(A}  Circular queue

(B} Priority queue

(C)y  Stack

(D)  Dequeue

The recurrence relation capturing the
optimal execution time of the Towers of
Hanot problem with n dises is

(A) T =2T(n—-2)+2

(B) T{n)=2T{n/2)+1

Q) T)=2Tn-1)+n

(D) T(n)=2Tn~1)+1

Which of the following is the correct order
of evaluation for the below expression ?

z=xtyrz /A% 21
(A */ % + = By =*/%+—-

() /% dm (D) %
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78.

79.

80,

B1.

Which of the following is a fundamental
operation in refational algebra ?

(A} Setintersection
{B)  Assignment
(C)  Natural join

(D} None of the above

Which protocol finds the MAC address
from [I? address ?

(A} SMTP (By [1CMP
() ARP (D) RARP

By which technology do we separate our
business logic from the presentation logic ?

(A)  Serviet
By fsp
(C)  Both (A) & (B)

(D) None of the above

- . - . I ;
Consider the set 5= {1, w, w?}, where v and
y .

w” are cube roots of unity. If * denotes the
multiplication operation, the structure
(5. %) forms :

(A} A group

(B)  Aring

(€} Anintegral domain

(D) A field

82,

83.

54,

85,

86.

Bluetooth is an example of ;

(")

(B)  virtual private network

focal area network

(C)  personal area nebwork

{12} none of the mentioned above

Which of the following s not an input
device ?
(A)  Mouse (B) Keyboard

{C)  Light Pen (D) VDU
An operation can be described as -
{A)}  Object behavior

{B} Functions

(C)  Class behavior

D) (&), (B)

The keyword used to transfer control from
a function back to the calling function is :

(A)  swilch (B) goto

(C)  go back (D) return

Two eigen values of a 3X 3 real matrix P
are (2+Y -1y and 3. The determinant of P
is

(A) 0 B) 1

Q) 15 M) -1
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Software project management comprises of

87.  Complexity of Kruskal's algorithm for | 92,
tinding minimum spanning tree of an a number of activities, which contains
undirected graph containing o vertices and . ‘
m edges if the edges are sorted is (A} Project planning
. . : Project estimation
(A) O (mn) B O(m) (B)  Project esimation
_ . (C}  Scope management
€ O{mtn) () O(n}
(D) All mentioned above
Tl ja 'y et iyl e AT 3 '.x‘. vy 1 A .
88. "‘/\;‘1“[ 15‘?1“-.?(:’_5511)_1: I;um,bu,‘ (;r retlexive 93.  How many Inputs are required in Full
relations on a set of 5 elements 7 Adder Cireuit ?
(A) 210 By 2b (A) 2
(Cy 2% oy 2% (B) 3
(C}  More than two inpuls
_ D}  None of the Above
89.  RAD Software process model stands for : ®)
(A) Rapid Application Development.
94. | Mala has a colouring book in which each
{(B) Rapid Application Design. English letter is drawn two limes, She
_ wants to paint each of these 52 prints with
(C)  Relative Application Development. one of k colours, such that the colour-pairs
used to colour any two letters are different.
(D) Recent Application Development. Both prints of a letter can also be coloured
with the same colour. What is the
minimum vaiue of k that satisfies this
requirement ?
90,  What data structure is used for depth first
traversal of a graph ? (A) 9 (B) 8
Gy 7 2}y 6
(A) Queue (B) Stack © ()
(C) List (D}  None of above
95.  What will be the final output of D Flip-Flop,
if the input string is 0010011100 ?
9. A set of rules that governs data a) 1
comimunication : (B) 0
(A) Rule (B)  Medium (G} Don't Care
(C) Link (D) Protocol (D) None of the Above
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46,

97.

98,

o4,

109.

The primary Key 1s selected from the

(&)

Composite keys.
(B
(<
(L

)}y Foreign kevs.

3 Determinants.
A Candidate keys.

How many address lines are needed to
address each memory location ina 2048 x4
memeory chip ?

(A) 10
) 8

(B 11
) 12

What are the characteristics of software ?

(A)

Software is developed or engineered;
it is not marutfactured in the classical
sense,

(B) Software can be custom built or
custom build.

() Software doesn't" wear oul”
(1} All mentioned above
MIMD stands tor :

(A)
(B)
{©)
(

Multiple Instruction Multiple Data
Multiple Instruction Memory Data
Memory Instruction Multiple Data

Dy Multiple Information Memory Data

Infunctional dependency between two sets
of attributes A and B then set of attributes
A of database is classified as ;

A} top right side
down left side
C)  left hand side

D) right hand sicle

101,

102,

103.

104,

Which type of Statement can execute
pm'ameterixed queries ?

()
(B)
©

PreparedStatement
ParameterizedStatement

ParamelerizedStatement and

CallableStatement
All kinds of Statements

(D)

inthe __ . _ traversal we process all

of a vertex's descendanis before we move
to an adjacent vertex. :

(A)
(B)
{©
(P)

Depth First
Breadth First
Width First

Depth Limited

Which of the following is a Fundamental
operation in relational algebra ?

(A) Sel intersection

{B) Naturaljoin
(C) Assignment
(I None of the above

Which-one of the following statements
about normal forms is FALSE ?

(A) BCNEF is stricter than 3 NF
(B)

Lossless, dependency - preserving
decomposition into BCNF is always
possible

(C) Lossless, dependency - preserving
decomposition into 3 NF is always
possible

(D} Any relation with two attribules is

BCNE

A/Page 13

SPACE FOR ROUGH WORK

SC-B (IT)



109, Application layer protocol defines

AB 00 01 11 10 (A)  bypes of messages exchanged
00 X 1 1 (B)  rudes for when and how processes
o1 sencd and respond to messages
11 (€} wmessage format, syntax and
140 X 1 1 X semantics

(D) all of above

What will be the equation of stmplification

of the given K-Map ?

(A) AB4BCD+A R 110, Which of th-::r following statements about
semaphores is true ?

B) AB+ABD+ABC (A} P and V operations should be

(C) BD+AB+BC mndivisible operations

D) BD+ABC+AR (B)  Asemaphore implementation sl'lcyartlci
guarantee that threads do not suffer
indefinite postponement

106. Object oriented inheritance models : (C) I several threads attempt a P(5)
operation simultaneously, only one
" : <R, . ol J

(A) "is a kind of” relationship thread should be allowed to proceed.
(B)  "has a" relationship (D) Al of the above

(€} "want to be" relationship

il Iy et S P Ta s . - .
(D) "contains of relationship, 111, Copying a process from memory to disk to
allow space for other processes is called :

107. The .. 18 the physical path over (A} Swapping

which a message travels. (B}  Demand Paging
(A} Path (B) Protocol (C)  Deadlock
(C)  Route () Medium (D) Page Fault
108. The Banket's algorithm is used : 112, Find the odd one out.
{A)  torectify deadlock (A} Merge Sort
{B) to prevent deadlock {B) TVSP Problem
{C)  to detect deadlock .o (C)  Knapsack Problem
(D) to detect and solve deadlock (D)  OBST Problem
A/ Page 14 SPACE FOR ROUGH WORK . ()



113,

114.

115.

116.

117,

What is 2's complement of (101),?
(A) {010y, (B) (01,
(€ (120, (DY (),

Which of this is not a network edge
device ?

(A} PC (B} Server
() Smartphone (D) Swikeh

The example of implied addressing is

(&)

Stack addressing

(B} Indirect addressing’
(€ Immediate addressing
(D) None of the above

The degree of Multiprogramuming is
conttrolled by :

(A} CPU Scheduler

{B) Long-term Schedualer
(C)  Context Switching

(D} Medium term Scheduler

I attribute of refation schema R is member
of some candidate key then this type of
attributes are classified as :

A)  atomic attribute

(B} candidale attribute
(©)
(«

) prime attribute

nonprime attribute

118,

19,

120.

How many Addition and Subtraction are
required if you perform multiplication of 5
{(Multiplicand) and 30 (Multiplier) using
Booth Algorithin ?

(A) 2.1 By 1,2

() L >y 2,2

The Decimal equivalent of the Hexadecimal
number (AC7B)16 is

(A) 32564 (By 44155

{Cy 50215 (D) 43562

How will you free the allocated memory ?
(A} remove(var-name)

(B}  free(var-name)
{©
(D)

delete(var-name)

dalloc(var-name}

~o{o-
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